F73RUAORSFFEREBEAERBTRETATILIERRIR
DiLY.N:1 5
BFHIR AR BR BP &=t
P HFEEA RiF 11 £ +ER 1630 1
=% 592.4 582.7 455 |
B H=EB| KX HE INS
=% 574.7 590.8 527 16925 | R
ZFFIAR AR BR BP =
B AEEA A=) Vi EFF
=% 614.0 588.4 520 17224 | 1RE
4 4 == et — J-\E/\
27 i =Bl & f3 JT AED 16367
=% 587.5 574.2 525
B H=FEC HIT INEI | ETHET (679 7
=% 594.9 589.8 488 |




139

4 FEE £730LAORSE

HH4E5H288 (L)
5A  ILASA )T

4
>~<II-
op
>
o}
>|.
b

I7517)\ii860F5% %k (BF) (AR60])

IEFNSERSRY K £ P B 4| S1|S2|S3[S4|S5|S6]| 3 X e
1 1| 8 | Rt ENME |[BFHZEE 3 |98.7 196.3 |95.0 |101.7 |101.4 [99.3 |592.4 |24
2| 1| 9 | XiB L= |8BFHFE 3 |95.8 193.2 95.9 [100.5 [98.0 |91.3 |574.7 |16

0.0

0.0

0.0

0.0

0.0

0.0
ka3

I7517)\ii860F5 % (ZF) (AR60WI)

IEMNSERSIRE K £ P B 4| S1|S2|S3[S4|S5|S6]| 3 X e
1 1 5 mE E |(FHFEE 3 |103.6 |101.3 |102.6 |104.1 |99.7 |102.7 | 614.0 |37
2| 1| 6 | &7k #A |BFHFE 3 [98.6 |97.0 |102.8 [98.9 |97.7 |99.9 | 594.9 |20
3117 |FER E[FHRFEE 3 [99.5 [99.3 |100.5 [96.5 |94.7 [97.0 [ 587.5 | 24

0.0

0.0

0.0

0.0

0.0
Enr a7

NOE: Not officially entered 3EZXTXEH DNF: Did not finish &HZEE
DNS: Did not start ZEi&

DSQ: Disqualified %1%




X=
%=
SH4 e B73EILNRSEHREAREAS
SH4%E5829H (H)
ISP BREEEEER

E—AS517)I8160%HE (BF) (BR60I)

IEf7STEESAE K % FmiE || S1[S2|S3|S4[S5|S6]| & m%
1] 4| 2| R BYE |FFHFESK| 3 [98.1 [100.2 [103.6 [98.4 [101.0 [99.4 | 600.7
2| 4| 3 |KB L2 |FHFEESK| 3 [97.4 |97.7 [100.1 [101.4 | 102.3 |100.7 [ 599.6
311 3 |HE #"|FFHEZEEK| 3 |95.2 [98.5 |100.2 |94.5 [100.6 [101.8 | 590.8
4 (21 2| TH BR|FEAITRIER] 2 |99.8 |95.0 |100.6 |98.1 |97.8 [98.0 | 589.3
5111 |LLUTF ZE |FFHEZEESK| 2 |94.3 |101.5|94.3 [96.7 |98.9 |97.0 | 582.7
6| 3| 2 |5M /I |BFHFERESAK| 3 |96.4 [98.3 |94.0 |93.8 |98.0 |100.2 | 580.7
7 2] 3 |WLE X |FHFEFESK| 3 [99.5]96.1 [95.3 |92.1 |91.1 [92.9 |567.0
8| 3| 1|XE HBiE|(BFRFESK| 3 [87.389.393.0 [92.5]91.9 [93.5 [547.5
9111 2 XE I |FFHRFEER] 3 |77.8|87.5|89.6 |82.9 |80.5 [88.0 | 506.3
E-LS1I)iZ8960FHm (ZF) (BR60WI)

IEAASIEHET N K £ il FHE| S1[S2]S3]|S4]|S5]|S6]| & k=
1 1] 4 ME E |FFHFEER| 3 |102.3 [105.0 [104.2 |106.1 |104.0 [ 1035 [ 625.1
2| 3| 4 | & A |BFHFEESA| 3 [102.0 |103.0 |102.8 [103.2 | 104.1 [101.6 | 616.7
3121 4 |FEAH %E|FFHEZESHK| 3 |10t.0[102.4 |101.4 |103.6 [102.1 [101.2 |611.7
4 | 3] 5 [0 &5 [prraFesk| 1 [09.8 [100s 1000 [1000 1012087 [602.4
5141 4 |/ME) (T |FFHFZFEERK]| 3 [99.4 [97.8 |94.8 |99.4 |102.3 |96.1 | 589.8
6| 1| 5 |fmA KkZF|(FFHZEEEHK| 3 |1009[94.1 |97.2 199.8 |96.1 |100.3 | 588.4
7| 3| 3 |BEx EH|(FFHEZEESK| 2 |94.0 [91.3 |92.8 |101.3]|97.2 [97.6 |574.2
8| 4|5 |IvKk B |FFHFESH| 3 |88.8(87.2 |97.3 [87.5|89.0 [90.1 |539.9
9| 2| 5| A% = |BFHEEER| 2 |78.3 |92.0 |76.4 |77.5 |88.1 | 77.2 |489.5

NOE: Not officially entered 3EZATEH DNF: Did not finish & ZEiE
DNS: Did not start ZEi&

DSQ: Disqualified k4%




4 FEE £730LAORSE

wH4E5H298 (H)
5P BFRFESFFR

E-AEZAML60FSRE (55F) (BP603)

4
>~<II-
op
>
o}
>|.
b

IBSNSTEEEIAN K & FriE |[%%| S1[S2]|S3|s4|[s5]|s6]| & X %
1] 1] 3 [/ME BEYI|FHFE 3 (86 (89 |90 |88 |88 |86 |527 |3

2| 2| 2 |A+E BRER[BFR¥E 265172178 |75 |76 [89 | 455 | 2

3 0

4 0

5 0
E-LEZXML60FRRE (&ZF) (BP60W]I)

|BAASTEHET K & Fr B [®##|s1]|s2]|s3|s4f[s5[s6| & X e
1] 2| 1[8a 8 |FEFE 381190 |90 [88 |85 [91 |525 |7

2| 1| 4| & OE[FHFE 3|91 (85|86 |86 |88 |84 | 520 | 4

3| 2] 3 ETFE AHHFAFE 279184 |85 (84 |78 |78 [ 488 | 1

41 1|1 [#0O FiR[FHFZE 278 [79 |83 |85 |82 |80 ]487 |5

5[ 1] 2 |#E XF|FAFE 2 (77 179 169 [80 |80 [83 | 468 | 2

NOE: Not officially entered 3EZ2TXEH DNF: Did not finish &HZEE

DNS: Did not start ZEi&

DSQ: Disqualified %1%




